CNCC Bt /U A 2 H1 41 35 # AR

CNCC Laser/Mechanical engraving

machine assembly tutorial

SR SEAEEA, 22 2B R rh AT AN B 0 M 75 33 006 3R 3 (A R S [ 52 I 1
Wagt, JEEF BN E G H E =)

Thank you for purchasing this kit, if you have any question during the procession of
installation, feel free to ask shopkeeper(Please be forgiven if we did not timely reply, The
shopkeeper will reply after seeing the information)

W T LR ek T e SE) S WA 22 5, DA k.

The material object may have little difference from instructions because of the modified
version
H& LTH:

gL ), 81, ANEDT, BPAR(Q200# 70 47), T, UEbR R (ERAAT), FN
Tools:

Cross screwdriver, scissors, small file, sandpaper(about 200), Lubricating oil, vernier caliper
(ruler), computer



M3x12 ¥ /14 .

M3X35/4

M3X14/4

coarse thread .

C | vsxie BA/1L |




Turn round the coupling screw should be no obvious shaking

M3X12/2pcs, do not over force




M3X35+ spring /2pcs

“ qvu.-h-un-w-ﬂv\




Stuffed into four small trumpet shafts, the bottom is in the same level with the bottom of the plastic parts

M3X16/4pcs, do not over force




M3X16/3PCS pre lock, do not lock it temporary







M3X35+ spring /4PCS



Large trumpet shafts, keep the edge at the end after stuffing




M3X12/6PCS, do not over force, it can be done if stand up to the spiale




M3X12/4PCS, do not over force, it can be done if stand up to the optical axis







O rem o

oy b.lm;;,qn"s ;
10116z 11
¥a-

SZLL “on

1 Ayz

Sny D'L'Cl‘~u“ \
EOIUGL LY 7y




Screw the coupling, load the nut into lead screw







T 22 ARl O i B Cilizbrite) — A DIY F P 4 T D A 22 38wl 4T B T 224

L




Move this close to the motor




M3X15/4PCS, do not over force




stuff down the shaft collar, push it and then lock it(in case the shaft collar shaking during working)




| m3xaa/apcs |
M4X10/8PCS SN

M5X14/8PCS




Pay attention to the direction of motor plate




M3X14/4PCS

M4X10/2PCS do not lock it, pay attention to the direction of plate






M4X10/3PCS




load the Z axis module, Pay attention to the direction of motor plate




do not lock the coupling and motor, we will adjust it later

I 2 Y L2 AT AT LA
WK A 2 S e 20 e

M5X14+T nut/4PCS do not lock the pre lock




MS5X8+T nut /4PCS | M3X35/2PCS M3X12/2PCS

M4X10/10PCS




M5X8+T nut/4PCS do not lock the pre lock




Place the wide aluminium extruded sections on the flat desktop or on the ground

(preferably on the thick glass plane) connected with the aluminum sheet




M4X10/2PCS

M3X35+ spring/2PCS

Load the large coupling

M5X14+T nut /3PCS pre lock




M4X10/2PCS

The operation is the same as above

M3X14/4PCS Pay attention to the direction of motor and Pvc board




M5X14+T nut /3PCS pre lock

M4X10/2PCS do not lock it, Pay attention to the Pvc board slotted direction
















do not lock it, we will adjust it later

I 2 Y L2 AT AT LA
WK A 2 S e 20 e

IRt )L




Place the aluminium extruded sections on the flat desktop or on the ground (preferably on the thick glass plane) connected with the

aluminum sheet

M5X8+T nut

Do not lock it, we will adjust it later

W

|~ =
This plane should be smooth







M5X8+T nut

Install the Y module to the frame

e it the flat deskt r on the ground (preferably on the thick glass plane) ensure the
— ace it on the flat desktop o g (p y gl plane)

Ldriairai) e iy
i S




Lock the front and rear panels

i

Here the distance just like the one above

. - | | 1

M4X10/8PCS, move the platform to near this place before lock

’%”'4 U I Ay

M4X10/2PCS




Lock the shaft seat and screw




Install the X module to the frame




Keep it smooth

-

Lock on b




M4X10/3PCS




Move the X module to this place, and then lock the shaft screw

2 -_—




Lock the shaft seat and screw




Move the X module to this place, and then lock the coupling




Insert the motor and then lock the nut, do not over force




The installation of laser device is same as above










12V output The main fan control n More than 2.5 W signal control(Can be connected with the electric

,’ XYZ limit interface
—
stop interface > Joovt- J% g - L 5 ' ‘

Tool interface
-

laser/ motor interface

Drive current regulation




WL TE R T WEZIBLRG 222 !

U LE 22 AL 0 TR v !

*TAT &R, LR BAIEN, A T R T I A% AT IR o

* o Jr R A R 22 JE R A IR BEE

* 58 e RIVAT 3 F L (AT T RIS i bl 80, B8 XYz B 77 L 15 A, a7 ) A IR
T ITFBOGEAT CNCCSIRML> T B >X/Y/Z il S ) > TR AT o

RO A T S AR (THT RO B OWEDE AL AT 26 s /NI

* AT A AR A BAT AR T ] 2 S AE

Congratulations on your completion of the installation of engraving machine

*Please add lubricant at the screw

*Screw all axes should be smooth, the screw shouldn't have twist, otherwise, please loosen the
coupling and make adjustments

*At the end, check whether there is leakage of locking screws

*After the completion, you can switched on and test the machine(Turn on the main axle, test
motor/laser, move XYZ to see if the direction is correct, if the direction is not correct, please turn
on the laser software CNCC>on-line>set up>X/Y/Z reverse shaft>save)



* The laser needs to be focused before use(Screw the laser lens to observe the light spot, adjust
to the minimum point)

*We provide software and tutorials for users to learn to use



